Welcome to Year & Maths
The lesson will begirv ab |:15am
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Sometimes, olwwa/sor\nw?

Numbers that end in a zero in the
ones column are even




345

Read this number
What is the value of the digit, 57
Muliplyy the number by 10,
What is 0.2 less?



wmber?

£99Y 5450 = 10,000
2450 + - 10,000
10,000 - 4550- 5450

10,000 - 5450 =777



Ron and Eva each make a 3-digit
humber from these digit cards.

3/6/(8]

Ron makes the largest even

humber possible. 836
Eva makes the smallest odd
humber possible. 683

What is the difference between their
humbers? 836 — 683 = 1S3



What units of measure would you
use for the following;
A walk to school Kilometers/meters

A pencil Centimeters/ millimeters

A length of a TV programme.
Hours/ minutes






To- corwert from kilometres to metres, multiply by, 1,000.
To corwerb from metres to- kilometres, diside by 1,000.
When multiplying by 1,000, the digits move three ploces
o the Left

When diniding by, 1,000, the digits moue, three, places to
the right.




/ kilomeftres

3,700 metres ?

A) 4,300 metres C) 7,000 metres

B) 3,300 metres D) 4 kilometres
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Distance from home to school km Classroomy 1T



I will knowr howr to cormert
kilometres and metres.

1 do :
meitres kilomelres
Complete the table. 5,000m 5km
2.,000m 2km
x 1,000
f"'_"""\ 3,000m 3km
1.000m 1o
u /,000m /km




6km

4,200m

The astronaut is wrong.
6km = 6,000m

6,000m — 4,200m = 1,800m
Is she correct?



kilometres and metres.
1a. Match up the equal distances.
3—-km 4km
7,500m 6,000m
4,000m 3,500m
1
6km ?Tkm




6a. Jakub has cycled 2,500m.

Morgan has cycled 2km.

Morgan says,

\

* I've cycled the
@-@ same distance
-y

as Jakub. )

s Morgan correct? Explain your answer.
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©9‘5\6 I willl knowr hour to cormert kilometres and, metres.
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41::' Which 3 distances combined make
STkm?

[ 2—-km ] [ 1,000m ]
[ 500m }
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